(5) Not Atte

3. fove uaiar fead wA@E S g 3. World Environment Day is celebr
(]) 73\:{,{@' (1) 7th July
2 5T (2) 5th June
S (3) 7t June
o 4) 5t July
(4) 5 ScTre (5) Not Attempted

(5) AL & A |
4., What is the radius of the earth ?

4. uHE G FENE? (1) 2371 km
(1) 2371 fF=L (2) 6371 km
(2) 6371 fFAL (3) 8371 km
(3) 8371 fm. (4) 9371 km
n (5) Not Attempted
4) 9371 fFHL
(5) =W el el e | 5. Mission Indradhanush’; launched in the veal
2014 is:
. . ‘ . ] N\ . .
5. kX 201‘4 ﬁm{‘qg’{{ i EELRRREIEL, e (1) To provide education to the deprivec
(1) ifer =l =i fore e children.
(2) feprotrdl &1 fafsr=t e &l 3113{’%@3?1@ (2) To provide information, commodities
5 A o A and service to meet the diverse need o
“d . T b Ll I adolescents.
(3) ERIEG é|a'|a'{”|a;wm31% STeRTeR 0 STl (3) To cover children who have beer
Ferrentl Wed e Y et o afmferd @ partially or not vaccinated during
() Hﬂﬁmﬂ'ﬁﬁ@lﬁﬁmﬂ a?nwnaﬁm}ﬁrar&w routine 1Tnmun.1‘sat10n rounds. .
- () To provide affordable and qualit]
QA Y wel | healtheare to the rural population.

(5) Not Attempted

o abrel @ fe1u 2erel / SPACE FOR ROUGH WORK

(5) e @ A |

L)

VNATH | 11 Page -
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(3) R

(4) dgHSA
(5) TR TR < = |

8. NG W R o Toresan W 88 ?

(1) 1951
(2) 1930
(3) 1950
(4) 1947

(5) SR T & e |

o, <firn et forafaae FE e €7

(1) MICEET

() TS

(3)

(4) o

(5) IR G & m '

l"-,?

10, ‘fofew s w1 EA@
1) WEFH
(2 =
3) ot e
@ AR
E IR

VNATH /H1

jtems,
Appam, Puttu and Idiyappam - food 1

belong to which State of India ?

(1)  Kerala
(2)  Punjab
(3)  Gujarat
(4)  Orissa
(5)  Not Attempted
ases
The earth is surrounded by 2 layer o
called :
(1) Climate
(2) Ozone

(3) Environment
(4)  Atmosphere v
(5) Not Attempted { 4

i edom ?
Which year did India attai? fre

(1) 1951
(@) 1930
(3) 1950
(4) 1947

(5) Not Attempted
Where is Jamia Islamig Javee s,
(1) Lucknow
2) Aligarh

(3) Bhopal

(3 Scanned with OKEN Scanner



Formnotice.com =
ey P, frd ey | 1. gl is @ od ot one o et
(1) S (1) Footwear
2 wE (2) Saree
(3) gue (3) Dupatta
4) mpEw (4) Ornament
(5) ST 9 =mmY (5) Not Attempted
12. CE’Yacd 12. ‘CE’refersto:
(1) sy (1) Casual Era
(2) wRE ATE ElS 1) (2) Coastof Egypt
(3) wEATREAE (83) Common Estimate
4 AT (4) Common Era
(5) W MR (5) Not Attempted
13. STUMT2011 % W IR Y T R E 13. As per Census 2011, the literacy rate in Ing;
(1) 83.0 18
2) 73.0 (1) 83.0
3 78.0 . 2) 73.0
4) 88.0 3) 78.0
() ST < | 4) 880

(5) Not Attempted

14. I (MAA) SrEHa 1 forega &9 =1 32
(1) ‘ﬁ;qh‘ﬁﬁ‘[ ﬁ ‘q‘rﬁ:ﬁF -q-;:f W%ﬁ =34l (ﬁgeﬂa 14. Whatis the full form of ‘MAA’ programme

BISSI 3 WW) (1) Menstrual hygiene Among Adolesc
(2) i Eh R (e T saeE) 2sie
@) o F’E_(“f N 3:@5!17-[) (2)  Mother’s Absolute Affection
) ‘q‘fqa R (T s 1.3 ) (3)  Mother’s Absolute Attention
5) e iy 4) Mother And Adolescent

(5)  Not Attempted
15. @A w%ymnﬁ—w%mﬁmﬁm

et 2 15. \gho saelr; ed as free India’s first Goverr
(1) Fﬂa €Nner.
TeTe '355’: 1) Jawahar Lal Neh
2) . TSeTER ( o
5 Wmﬂ-{g . (2)  C. Rajagopalachari
@ o 3“-\;"3 (3)  Sardar Vallabhbhaj Pate]
3 (4) Maulana Azad
5 I
: (5) Tl T =Ry | (5) NotAttempted
NATH / H1

mmasramena /' SPACE FOR ROUGH WORK Pa
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16. I ot & RO G- < At §) | 16, Deficiency of
(1) TefmD disease.
3) fwfmBl (2) Vftamfn A
4) faefm c (i) V%taan IZI
(5) ST I = (4) Vitamin
(5) Not Attempted
17. T ISR HHAA U019 = ST 1 g Wy
; ? 5 . - 0 cm from
B i iR whifs fFaht 5 17. A boy is standing at a distance of S y
1 75 AT ¥ EUALE the plane mirror. What will be the distance
(1) : between the mirror and the image ?
(2) 100 G () 75cm
B 25 @fmﬁa 2) 100 cm
(4) 50 et (3 25cm
(5) ST TR S R | 4 50cm
. (5) Not Attempted
18. qe STl @ B STt sy
gl
: 18. and are water borne
(1) aferd oiR freg diseases.
(2) EHES R Afmeien (1)  Polio and Rickets
(3) - A s (2) Typhoid and Meningitis
(4) THal SR T (3)  Beri-Beri and Dysentery
(5) WS A IR | (4)  Scurvy and Cholera
. (5)  Not Attempted
19. 992016 § YRA THR I A fgvm
AR foh & e stria Sfeq afed oot f9em | 19, In the year 2016, the Government of [ng;
& foram e & initiated a mission called . f lglas
: which a proper S .____———— under
g; T started. cWage disposal have been
@) e ) Namemi Gange
: (2) Ujjwala
(‘f; | .,;E’;;‘;m (8) Udaan
e | (4)  Swachh Bhargt
20. - Freaffian % % ey weae 4 e 1 S e ) Not Attempteq
ST & 2 : 90 S
1) e i - Yeastis used in the Prodyct;
3) o (i) Sugar
IR, E 4; Oxygen
’ Al
O IR Ty (5) Nocto ::tl
VNATH /1y CMpteq
foTE RRIeT/ SPA
TG B B CE FOR ROUGH WORK
Paga =

C} Scanned with OKEN Scanner



21.

22.

23.

car CAD d b 5
21. Hepahtls_A 1s caused by
) 1wt b (1) protozo.a
%mzﬁﬁ /\ Sl 1 o B) Bacteria il
(]) u\(ﬁ\‘h\"‘” (3) ViruS x|
(2) HWWI (4) Fungi <
(3) fommy (5) Not Attempted (
4) heh
5) SRR [ A erty of metals by WhiCht o
3 P 2 gggtgrrloilx)lto thin sheets ig Calleq ;hey “ﬁn;_ |
TGS T T ) @ fored wgati (1) Malleability i
Tt Tael TR ST S ) (2) Conductivity
(1) Federm (3) Reactivity
(2) STl (4)  Ductility
8) Wi e (5)  Not Attempted P
4) T :
(5) ST < =Ry | 23. Match electrical Component givey.
Column - I with the Symbog] Bivey
m.xﬁﬁanﬁﬁgﬁmﬁﬁm-nﬁﬁqm Column - 11 : i
ST Hhal qafer SRITNTT .« Column - I Column.n
w1 Y- 11 (A)  Electric cell (1) <
(A) fomm S O j ‘
(B)  Switch in ‘ON’ (IT) _@
B) ‘ST’ feafa ¥ frog I) @ s
/_(1 Position
©) foE 5o (117) R (C)  Electric By, (I, E=27.
D) = ; (V) @)  Battery V) 4
T fore gy Choose the correct option -
o) W@, 0y, o ‘ W A)-av), @) (©)-(), @)-q)
B )0, @), Q)-(I1), (D)-(1y / ; ’
©  @&-m (B)-(I),JTC)-(H), ED;—grv; o A, @, -, (0)-y
D AW, B oy’ (D)~ A, @) o)y (D)-@v)
() LIk oY | @ @)-qv), (B)-(), (0)-(m), (D)-(I1])
() Not Attempteq ;
24, o 28
N ﬁ1;:11'11 gf the folio“dng iS not the chara
(1) Heac_i tail smaller than the?
Portion of the body,
(2) Presence of fing :
(3) . Presence of gills " |
(4) Long backbone Wwith cylindricalbodi ,
= (5)  Not Attempted T o
T | SPAGE FOR RouGH WORK : " |
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wﬂ!ihwﬂaaqﬂ

/@ﬁaﬁqﬁaqﬁﬁﬁ?gnrﬁ;:ljgz;ﬁaawﬁtﬁjgg%

Shferd &l @ ey
(1) TrermEm

(2)
(3)
(4)
(5)

26. aﬁmﬁm%m

AT hi SR T} Ry} 8
(1) TS

@) faferzm

(3)

)
(5)

Hoe
S Tl <A =R |

27. Y HiH I

(1)
(2)

g yEETd R
il

L

@) TR

(4)  TeTwe

(5) 3 3 =R |

28, FoT %) .o, T
(1) o=+
@)
3)

pIL

foreiom
4) U=
(5) W T =R

ST R, sy
%‘Jﬁ;q'q g q g8

¥ freht

Formnotice.com

25.

26.

27.

28.

ing. They
can persgxr'lv’isvf frﬁiﬁssiﬁgisr g;zlgrfc afﬁi;edn?d
;?fn;i;ﬁzial kidney. This process 18

(1)
(2)
(3)
(4)
()

Elimination
Excretion
Dialysis
Transpiration

Not Attempted

No medium is required for transfer of heat by
the process of

(1)
(2)
(3)
(4)
(5)

Transpiration
Radiation
Conduction
Convection

Not Attempted

Earthworms breathe through their
(1) Skin

(2)
(3)
(4)
(S)

Lungs
Tracheae
Gills

Not Attempted

The SI unit of mass is ;
(1)
(2)
(3)
(4)
(5)

ounce
gram
kilogram
pound

\
VNATH /11

o @1l 2 TTE 2111 | SPACE FOR ROUGH WORK

Page
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29,

30.

31.

frefafiad =) gafaa a3 :

0] (Im)
(A)  TFSA () ST
B) Yg )  siErm
(C) TiHE (1) o
(D) o9t @ (Iv) o

(1) (A)-(10), (B)-(111), (C)-(1V), (D)-()
(2) (A)-1m), (B)-(1V), (C)-(11), (D)-(1)
(3)  (A)-m), (B)-(11), (C)-(I), (D)-(IV)
(4)  (A)-(V), (B)-(11), (C)-(I11), (D)-(I)

(5) S Tl < =R |
Teferfed & & -9 Treita yepfiaarg 7@t & 2
(1) =9 deq

@) dweTs

@) TR

(4) auiad

(5) S T T AR |

Ffe ferdlt o & 25 7T # TEER B, 59 T A
feha HiTeraR 2 2

1) 6 25
2) 3 o5
B 5

“ 4

(5) SO &l A = |

AT Q, R % P F T H 9K &, 710, R g

32.
YR Teiferd g ?
(1) =R 4/
@ +
(3)  =wEn/AT %
() “ot
(5) S & g =Ea | l’/q-»
VNATH / H1

29.

30.

31.

32.

Match the fo”owing :

m (1
(A) Lamina N Wcak
(B) Petal (1) Ovaxy Ste,
(C) Pistil (1) ey
(D) Creeper () Flower

(1) (A)-11), (B)-(111), (C)-(1v), (D)~t
(@) @A)-01), (B)-av), (), (D)~
(3)  (A)-I), (B)-(11), (C)-(), (D)-(ry)
@) (A1-AV), (B, (C)-mm), (o).
(5)  Not Attempted

Which of the following is not a ten
habitat ? a

(1)  Grassland

(2) Pond

(3) Desert

(4) Rainforest

(5)  Not Attempted

If 25th of August in a year is Thursday, th
how many Tuesdays will be there in t
month ?

1 6
@ 3
@ 5
@ 4

(5)  Not Attempted

vis
If ‘Q’ is brother of son of R’s son, then %
‘Q’related to ‘R’ ?

(1) Cousin
(2) Son

(3) Uncle

4) Grandson

(5) Not Attempted i
pagé

¥ B1ef 3 10 2T/ SPACE FOR ROUGH WORK
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»
33. & Al W fegn § ’ﬂ"gm

190 5T -
(1) UE=m %

@ W 9"/7;:%%

@ I

(@) SW-UREH

(5) SR & A= > S

%}
i ST TRl <% W Hmafpﬁ@béigﬁmw

33. A man is facing North dire

3

tu
ction- Ii;en 90°
'135" in anticlock-wise direction ® n direction
in the clock-wise direction- 1€

is he facing now ?
(1)
(2)

West

1,
|

i }‘Iorth—East
(3) .
(4)
()

. North

North-West

Not Attempted

34. i > 34. A set of English letters is given b.elov'f s &
¥ Hemst F 39 HaSH i W = e e jusmbled order. Select the COMPIETE ;
31eRl <l HAfeerd e . numbers so that the letters arran

A T T A0 63 o | accordingly will form a meaningful word-
? 123 I; T O E c p K T O E
| 4 5 6 1 2 3 4 5 6
(1) 4,1,5,2,3,6 (1) 4,1,5,2,3,6
@ 3,5,1,4,2,6 @ 3,5,1,4,2,6
1 6,4
(3) 27 ) 57 3: ) (3) 2, 1’ 5, 3, 6, 4
(4) 2, 5; 17 33 674
@4 2,5,1,3,6,4
(5) SW Tl 3 =T | (5) Not Attempted
oy ThR

35. mm.ﬁ;gﬁqﬁz{aﬂﬂaﬂ{ﬁﬁ%, = 35. Kilometer is related to Distance in the same

Torerst et %? way as Newton is related to :
) A (1) Momentum
2) X (2) Acceleration
- 3 (3) Density

(4) Force ‘
4 =ad

(5) Not Attempted
6) SREIAAR[I e e EGRROUGH WORK

PACE
VNATH/H1 T e /5P Page 9
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T o 3R 3 A1 &) Rt 1 8 1 fau g &1 fqu

36.

37.

38.

39.

Two statements are given, fory

‘

conclusions I and 1r1. Agsow*‘-db
U, Y
Tm%‘

statements to be true even ¢ tﬂ
at variance from the Commom;,e e
decide which of the COnC]UsJiO) OWnc
follow/ follows from the given Statna ]%ﬁ
Statements : Qmen';
All animals are dogs.

Some dogs are dangerous,
Conclusions :

L All animals are dangemu&

II. -Some dogs are animalg,

(1)  Neither Conclusion I nor I gy
(2)  Only Conclusion I follows Ot
(3) Only Conclusion II follows,

“4) Both Conclusions I and 11 folloy,

(5) Not Attempted

Find the next term of the series :
11, 12, 16, 25,41, _ ?

(1) 72
2) 65
3) 66
@) 69

(5) Not Attempted

If in a certain code, ‘COVET’ is writte
FRYHW’ then how will ‘HIDE’ be writtenir

same language ?

(1) KGEF
(2) KLEF
(3) KLGH
(4) KLEI

(5) Not Attempted

Five children A, B, C, D and E are stand}ﬂs
a row, facing North but not necessarily It
same order. ‘C’is to the right of E’and®
left of ‘A’. ‘A’ and ‘D’ have one child bffg“‘
them. Who is in the middle of the 10%°

(1) A
2 E
3 C
4 B

5 Not Attempted
o ——

36.
T FHE H T HAS §U AR A A @ aedl A
fis & = 7 wdt D9 & fofa 3¢ fop A-T/3
e fu e ser) & smuR T e w9 9§ T
TARETSIR
RYT : -

Hﬁﬂmgﬁ}%"’: g

FO FA TRA § |

Rt : ,
L 99 M @a @ e }
O T %0 IR

(1) T fr=pd 1 3k 7 9 11 Freperar 1
(2) e frnd 1 frpear £

(3) ad r=hY II Frererar €

(4) Tr=md 1 3R 11 S e &1

(5) SR TE 1 =R |

37. ST @ HT AT US [ FIT
11, 12, 16, 25,41, _ ?

(1) 72
(2) 65
3) 66
4) 69
(5) ST TE < =R |

38. 4fq T k= ey § ‘COVET® &I FRYHW’
ﬁf@rw%ﬁﬁs’?ﬁwﬁﬁmyaﬁwm
STQTT ? ~
(1) KGEF covLT
(2) KLEF
(3) KLGH
(4) KLEI
(5) STl QA TR |

39. U T A, B, C, D T E S FT 3R Y5 ik TH
wfer & TS T, AR oTaveE T S e s mH A A
‘C,, tE’%a'rgaﬁ'{‘aﬁTtA” 'a;a'rgaﬂ?%l ‘A’aﬂT‘D’%
#a H TF T § | U s A W R e
(1) A
2 E
3 C
(49 B
(5) S AGT o AT |

VNATH / H1

QDCQ ’::

/

¥ B & 1T Termer / SPACE FOR ROUGH WORK

o
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40. ﬁmmmwz

41.

42.

43.

VNATH /H1

(1)
(2)
(3)
(4)
(S)

TR
RH
TR

MU
ST T & =y |

AL 45— 28 — (37 — (15—x}]=58 & A x w1 wH
(1) 29

2 -29

B -—19

4 19

(5) ST &l < = |

HTYROT 4TS St Tohe <X/ 1S AN 12 o § & &
A B I 2

1
9—%
m 9%

1
8—%

@ 83

8%

@) 83

1
8—=%
2

IR TRl < =R |

(4)
()

Ife ot aTgq 3 Tl T oveg qe &hd Al
25 e AT 168 o WX & A I w A S

?:

31 . )

12 . Zﬁ_g’
17 .

24 T,

I G < =R |

(1)
(2)
(3)
(4)
(5)

40.

41.

42.

43.

Find the odd one out :
(1)  Tomato

(2)
(3)
“4)
)

Ginger
Carrot
Potato
Not Attempted

If 45 — [28 — {37 — (15 — x)}] = 58, then the value
of xis:

(1) 29

2 -29

3 —19

4 19

(5) Not Attempted

At what rate of simple interest will a sum of

- money doubles itself in 12 years ?

!
A 9—%
m 9

1
- 8—%
@ 8
1
8—%
@ 83

(4)
(5)

1
8—"%
2

Not Attempted

If the length of the diagonal and the area of
rectangle are 25 m and 168 m? respectivel
then the longer side of the rectangle is :

(1) 31m
2 12m
B) 17m
4 24m

(5) Not Attempted

~ 772 % fere 2Tt | SPACE FOR ROUGH WORK

Pag

C} Scanned with OKEN Scanner



1

i \
. Two numbers are in the rag;
44 sum is 125, then the num ).0 2:

(1) 24,36

Fy "4
8 aTQ : ,[

4. AFE 2 : 3 F AU N ¥ | Afs e AT 125 9,

@ 3 YT gt
(1) 24,36 (2) 20,30
@ 32,78
(4) 50,75

(2) 20, 30
(3) 32,78 \%
4 50,75 ,

. 5 Not Attempted
(5) ST & / (5) No

45. A does 20% less work than g .
N th,

45. TWHREFH A, B @ 209, HH F Fx § 1A A time. If A can complete ,, iy
C

feeft e =y 7% 9 AR T R o B s et 7%: hours, then B can qq itin. = O
RUUAIGRCEE b T (1) 6% hours '
(1) 6% (2) 5 hours
2) 5% (3) 5% hours
@) 5yuHe (4) 6 hours
4) 6w (5)  Not Attempteq
) ST &1 9wy
46. The HCF of two numberg 1S 28 ang g
e o is 336. I €ir
R M HCF 28 ¥ it 37 1.0y 336 ¥ number g ;P iS 112, o1 the,
aﬁ@mm%’,a}@ﬁma‘nﬁ: 1) o2
(1) 92
@ 3 2daire | @
23 —— 64 T 4
115 g —+3 C
5)  Iw T TRy K7 (5)  Not Attempteq

If 25 x
@ =1+ B » then the value of

P N Y

S v @ 0
Yo 3 5 1
| \%\ 13 @ s

/ @4 13

(5)  Not Attempteq

# fy ’ -3y . 48, The
3 . 4-dio; B‘dlglt Number and the gred
X '8l numper » €xactly g -

(3)
W 4 g (1) "9

C} Scanned with OKEN Scanner



ot
n
| the 0(](](
Finc 0
0. T T 40 1) om!
o T o T
(2) O 6 carr?
@) TR @) P "
tte
t ¢
(4) o | 5) No A
(6) ST I == g
512 i
| 42~
41. "‘3&45-—[28—{37—(15—x)}]=58%,?ﬁxa?l'r'"-“I 4% of X18°
(1) 29 g Y
() -29 ( _19
B) -—-19 )
@ 19 W Yo
. At
6) SR G N
-~ 1pted
42. TR e A 12 A A A |y g hat B
: ? J - doub® . ,
TR W R mone} d pair of skates at a sale where
L Z O{élven is 20%. If the amount he
(1) 95 % g-4 g then which of the followingis -
. (1) ) price of the pair of skates ?
5 1, )0
” 2 o 80
o sl 500
3 ,920
@ g _;_ o 9 L;: ot Attempted -

st of type - I rice is T 15 per kg and of
II rice is ¥ 20 per kg. If ricebof both
are mixed in the ratio 2 - 3, then the
i price per kg of the mixed variety of rice

%19.50

h T18.50
5)  Not Attempted .

RARROUGHWORK ~  —
Page 13
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49.

50.

51.

, then the value of M is ¢

1
3 2 -

If

X
Y
(1)

@ —5
(3)

@

(5) Not Attempted

Arun buys a pair of skates at a sale where
the discount given is 20%. If the amoupt h-e ;
pays is ¥ 1,600, then which of the following1is.
the marked price of the pair of skates ?

(1) ¥ 2,000
(2) ¥1,280
" (3) 1,600
(4). T1,920

(5) Not Attempted

The cost of type - I rice is 3 15 per kg and of
type - 1I rice is T 20 per kg. If rice of both
types are mixed in the ratio 2 : 3., then t.he
cost price per kg of the mixed variety of rice
is :

(1) ¥19.50
(2) 18
3 %19
4) T18.50

(5) Not Attempted

. RE_Lyd LY waam
' y 3 X" -y
=9
(1) 3
- 10
@ o
5
@ 3
-5
Ol
(5) IR TG o =R |
50. W@ﬁa@@r{&m@@h@m%ﬂﬁ@
00% g1 fiet T ¥ 1 e $E T 1,600 feuqi f=
@aﬁ?—@rmwm%@@%maﬁmq@
37 3206
, o
(1) 2,000 / T5—
() 1,280 %
(3) 1,600 / 6o
31,920
A o
() TR A R %
| 0
I 9 x
51. W—I%WW@?W%W
m—u%aﬁamgw?zouﬁfm%laﬁ
ﬁm%aﬂﬁz:sﬁﬁmw@,?ﬁﬁm
=1 Wi a9 €3 /8
3}——- 90
(1) %19.50 s s
2) %18 -
3 %19
(4) ¥18.50
(5) SR T & = |
'VNATH / H1

L
36 Bk %5 feru el / SPACE FOR ROUGH WORK

Page 13
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. &
52. 17""?5'@!%7201?(?@'%%5@%@1@
mmﬁ@a}%lwﬁ'ﬂﬂm‘ﬁ%‘
(1) 260 (ﬁ
™M @ 245 “H2ox /3
T @) 250 —
—Q @ 255 B
c:j O SR
1y
s§mamﬁﬁmwmﬁsmafw:
yaﬁﬁmaﬂaﬁw 792 i el 3,
mwmﬁ%ﬁ)m:
I () 5306
><3a (@) 5719
—E\\ B) 5244
\;qg 4) 5544
L5
—3 SRTE 1 Ty
N o
54 AT B 3 3y %22,5003911%35,000 W,
il’l T SR g 1?27,600%%61“?7383?[
e,
L.’
&

‘

) the
bal]s

- Is for ¥ 720
52. Ofll1 zlelt:) %he cost price of 5
;(rlice of one ball is :

(1) 60
(2) T45
3) T50
4 55
(5)

Te
Th.,

Not Attempted

53. The radius of g cylinder ig S5c¢

InorethE
height. If the curved Surface ey
cylinder ig 792 cm2, then the Voly,
cylinder (in cm3) ig .

(1) 5306
2 5719
B) 5244
4) 5544
()  Not Attempted

54, A and B Starteq

, a businegg by inveg
22,500 and ¥ 35 o Tespectively, oy
tota] profit of ¥ 27,600, B

’s share is:
1) z 19,200
@ = 10,800
B) % 14,409

(4) %16,800

©)  Not Attempteq

N
A truck Covers g distance of 550 metrrfce
rninute whe‘reas a bus Covers a dlSt: spe
ms in 4 Minuteg, The ratio of th
X to the speeq of the bus is:
@ 3
(3) 4.
@4 3
(S)

er
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56. Choosc? the correct alternative to improve the | 61. Fill in the blank with suitable Gl
}md(?rhncd part of the following sentence. If no You will not overtake him unless y
tmprovement is required, your answer is (1), (1) reading
Passengers are requested not to sit on the floor. (2)  sleep

1 . (3) walk quickly

(1) No Improvement

@) to i (4)  play

not sit 5 Not A d

(3)  tonot to sit (5)  Not Attempte

(4)  requested to sit 62. In the following question, the first and the last

(5) Not Attempted part of the sentence are numbered Sl % 85.
The rest of the sentence is split into four parts

57. Find out the ‘ , and named P, Q, Rand S. These four parts are
(1) alarm antonym of frequent’ jumbled. Re-arrange them in correct order.
(2) rare S; - Even today in many countries
3) re{ur P - neglected and there are far
@) f n Q - women continue to be

) ear R - who have had the benefit of
(5)  Not Attempted S - fewer women than men
Sg - i i -

58. Choose the alternative which best expresses 16 edycation.and vocation'tratning
the meaning of the underlined idiom. ( 2) SQRP
They sold their old house because it was 23]) g%gg

a white elephant , 4 ROQPS
(1) collapsing (5) Not Attempted
(2)  very large 63. Pick out the part of the sentence which has an
(8) useless error. If there is no error, your answer is (1).
(4)  very comfortable This is the third communication I have sent /
(5) Not Attempted (A)

, and Iam much surprised /

59. Change the following sentence into indirect

speech. i o ®)
Shakti said to his friend, “Look out! There is at receiving no answer .
a snake behind you”. (@]
(1)  Shakti warned his friend that there was (1) No error
a snake behind him. 2 &
(2) Shakti told his friend to look out as 3) (B
there is a snake behind him. (4) %\?)t At e
(3) Shakti exclaimed to his friend with 5] Nottemptec _
surprise that there could be a snake | 64. Choose the alternau.ve Whl(?h best_ expresses
behind him the given sentence in Passive Voice.
(4) Seeing a s.nake behind him, Shakti The accountant took the cheque from the
: : customer.
asked his friend to look out. (1) The cheque had been taken from the
(5)  Not Attempted customer by the accountant.
(2) The cheque is taken from the customer
60. Choose the correctly spelt word. by the accountant.
(1)  humarous (3) The cheque was taken from the
(2) humorus customer by the accountant.
(3) humorous (4)  The customer was taken the cheque by
(4) humoros the accountant.
(5) Not Attempted (5) Not Attempted
PRI
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65. Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to

arrive, and the true success is to labour.

(1) carelessly

(2) rationally

(3)  positively

(4) negligence

(5)  Not Attempted
R fo 3 i g w9

(1) s

2 s

B) IsEm

@

(5)

71.

CEC
AW%% | .
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1) 24 76. How many districts are there in Haryana ?
@ 21 W 24
B) 22 2 21
4 23 ® 22
(5) ST W * 2
, (S)  Not Attempted
7. BRAT H wfweme ' -
T ST Tedt et TR % form Wlﬁ 77. Boojali, an ornament is worn in which part of
, the body by women in Haryang ?
(1) = (1) Nose
(2 =M\ (2) Ears
(3) e (3) Forehead
@ W (4) Foot
. (5) Not Attempted
(5) W TR
78. Tow =l 2022-23 % ferg, efeon s e 3 | 78 For the financial year 2'022‘?&““’*‘:’1‘1 e
) i _ percentage of the total expenditure allocate
fa P = 1 TR Hfera Y ? towards Health in the Haryana State ?
(;) ;8;4;/ (1)  5.8%
ES; L @) 14.2%
. (o]
il B) 6.2%
(5) S T S =R | ) -8.5%
- (5) Not Attempted
79. TR ' HEIWRA' % T i © 2 .
: 79. Who was the author of epic Mahabharata’ ?
(1) = age (1) Maharishi Vedvyasa
(2) W™ (2) Magh
(3) hiferer (3) Kalidas
@) i e (4) Maharishi Valmiki
(5) SWAH MR (5) Not Attempted
80. ffafead <@ e
ﬁ?ﬁ:{ T3 =l , o SR 80. Who among the following is the Minister of
TSI Haft 2 Environment, Forests and Wildlife of Haryana
(1) o Heren State ?
@) o s fas (1: Szree Duslh‘)/fant Chautala
) (2 Shree Anil Vij
3) @
(4) WW (8) Shree Kanwar Pal
@ e = (4) Shree Mool Chand Sharma
() SR I = | (5) Not Attempted
\
VNATH/ H1 3% 14 35 feTE 221t / SPACE FOR ROUGH WORK Page 17
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81. RIS 91 Wi forrad s 33 3 fer wherd @
¥; T W PA-W | ?

EEGHRE]

Gl HReTd

TR HRled

3T TR

(5) S T AR

(1)
(2)
(3)
(4)

82. Trafafaa ¥ & % a1 ger efamn %1 g 98 € ?
e
TOR 1 &

(1)
(2)
)
)
)

3T 1 98T
I G < = |

81.

82.

83. o foat # e Uiy tan fovafarnem feua §2 R

(1)
(2)
3)
(4)
()

I TR o =R |

84. T&A T TRl WA e g feae e @ | 84

1= & it R 0 R et el =y s
fFar S e ?

(1)
(2)
(3)
(4)

(5)

85.  TRw <hett for e e g 2

(1)
(2)
(3)
(4)
(5)

S TRl < =R |

SR T 1 = |

85.

~ VNATH/H{

To promote the ancient
two festivals are held ey,
‘Pinjore Heritage festivg]
one ?

(1) Lemon festival

(2) Orange festiva]
(3) Dates festival

(4) Mango festival

(5) Not Attempted

Which amongst the follow;

of Haryana ?

(1) Sal Tree

(2) Banyan Tree
(3) Sacred Fig

(4) Mango Tree
(5) Not Attempted

¢
’t
W

eritage

year LA
higy, ;]
iy

Y

ng is the 8

In which district is the Ingjy, b
Defence University located ? ﬂ

(1) Karnal

(2) Panchkula

(8) Gurugram

(4) Faridabad

(5) Not Attempted

Mukhya Mantri Pragatisheel Samma
is to motivate the ‘progressive farm
adopting best agriculture practics
many categories of land holding ?

1) 5
2 2
3 3
4) 4

(5) Not Attempted

T fOI
Garima Chaudhary is well kno™"

sport ?
(1) Archery
(2) Judo

(3) Kabaddi
(4) Wrestling

(5) Not AttemptecL__/

\
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-
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86. Frefan § 3 e % HH-wh T deh darh

86. Which of the following dance fog#
SR g 2 is associailt_ed with Mewati trib
' (1) Gugga
1
((2; E;; (2) Dhamal
(3) Ratvai
. @ rhag
ted
6 R i e (5)  Not Attempte
. . . | 87. Who amongst the following did not play for
87. ﬁﬁ%{f@a o X e w5 IR W YOS 2 A Haryana in Ranji Trophy ?
& G o (1)  Sarkar Talwar
(1) WW (2)  Maninder Singh
(2)  wf=x fug ‘ (3)  Kapil Dev
B) =ftmg (4)  Rajinder Goel
@ i<z e (5) Not Attempted
(5) SR ==y
88. Consider the following statements :
88. Ti=feiag wemy R &T=R Fifvw . (A)  Sonipat and Jhajjar share border with
(A) @ﬁmaﬁtwaﬁmﬁﬁﬁ%mwm Delhi.
) (B) Rohtak does not share border with Delhi.
B)  eaw F e feoch 3 T@ S e \Z)};li.ec:t ;)f the above statements is/are
STH ¥ -1/ o /2 (1) Neither (&) nor (B
(1) T () s (B) (2)  (A)only
(2) o (a) | ), (B)only
(B) = (B) _ (%) Both (A) and (B)
4 (@A 3k (B) F (5) Not Attempted
(5) S =y
89. Consider the following statements :
89, ﬁ":rﬁ?ﬁga WWWW 1 (A) lj\iadSMSahib Gurudwara is situated in
mbala.
A ﬁ .
@) = % T H T (B) Nada Sahib Gurudwara is situated on
B) e wfew BN ¥R T & 9 W R the bank of river Ghaggar.
E'q'@?ﬁ 0y ﬁ—.{_m/:ﬁ EREReF) %/%? Which of the above statements is/are
M) A3 (@A) sk (g) °f"e°t"f her (A nor (3
(2) =@ (a) ((2)) T;Zni; SRS
(3) ﬁﬁ'ﬁ\\(B) . 3)  (B)only
@ (@) 3R (B) i (4)  Both (A) and (B)
) ww T %‘:ﬂ e | L (5) Not Attempted
VNATH /T = Tl % 16T 2Tt / SPACE FOR ROUGH WORK
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e et e
many Rajya |

J‘ 00. How

LU I 1 T oIT T191T + 1 . > s
U Y U5 991 ot fopat €T 8 7 have ?

4 T8 HATCTd < [0

h M1/ 9 e Hal t

(1) GG || (A) 3R 7 & (B) )\H
; | Which of the ahove
- A) H Which oi the above

b |

<
=

| (2) (A) only
8

{1{,”3»}} :x)‘wmh};

Both (A)
DOLIL () ¢

Not ,b‘:“ﬁl’i(v‘v‘q'r,\‘iv;g/ﬁ{"r(e{o"‘i’
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ST e B SR & e femd e 1 3R fehan

94.

‘(4)

95.

96.

97.

In the Mahabharata period, which term was
used for Haryana ?

(1)
(2)
)

Haryanak
Haribanak
Bahudhanyakya
Hariyala

(5) Not Attemptéd

Which one of the following is not amongst the

major cotton growing districts of Haryana ?
(1)
(2)
(3)
(4)
()

Rewari

Sirsa

Sonipat
Ambala

Not Attempted

Consider the following statements :

(A) Rohtak has a Police Commissionerate
located there. :

Sonipat has a Police Commissionerate
located there.

B)

Which of the above statements is/are
correct ?

(1) Neither (A) nor (B)

(2) (A)only

(3) (B)only

(4) Both(A)and (B)
Not Attempted

(S)

Neemrana comes under which State ?

(1) Uttarakhand
(2) Rajasthan

(3) Haryana

(4) Punjab

(5) Not Attempted

94.
T ®?
() eI
@
(3) FeuaH
@)
(5) W?ﬁﬁfﬁﬁl‘b‘al
95. frferfiad H & I ERAN F FGE B AP
RAAATHETE?
(1) EEl
@ o
(3) @
(4) ST
(5) R TE & W |
o, Trfaiad Ferl T o i :
(a) e © g ST e €
B) Grfra gl ST Ter B
mﬁﬁﬁ«r—wﬁwaﬁ%/%?
(1) (@A) RAE (B)
(2) 9 (A)
(3) e (B)
@) (a) 3R (B)
(5) SR T N =R |
97. e fopg T & Sfad R ?
(1) SWEs
(2) TSEEE
(3) =fcamm
4) S
| (5) STl 3 = |
- WATH 1
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08. T U W eqrg (it g & ) e A FreAfefea | 98-

FeAl W f9=ER Hifag

@) R S ww @ i ReR F e T S
Aty 71

(B) TSI =T St TW S Ot wfemon & S T S M H
31fYrer | :

SUGH H @ hIH-T1/Y He HE &/ ?
T4 (A) SR TE (B)

(2) I (A)
(3) 9 (B)
@ (a) SR (B) I
(5) Wjﬁ%ﬁmﬁ:
99, ‘sirz’ =iy eRarn  for T W E?
(1) =R
(2) TG
(3) et
) e
(5) IR 7 & = |
100 4 & fry ity 4 s S A9 A ST

WA By,

(1) T

(2) g

(3) ﬁw

99.

100.

Y

Consider the following statemep, ,
State Domestic Product (GSpp). ey,

GSDP of Haryana is more g,

(a) G
Bihar.

(B) GSDP of Punjab is more the .
Haryana.

Which of the above statemer,
correct ?

(1) Neither (A) nor (B)

(2) (A)only

(3) (B)only

(4) Both (A) and (B)

(5) Not Attempted

e

‘Ottu’ barrage is on which river in &5
(1) Ghaggar

(2) Yamuna

(3) Sahiba

(4) Tangri

(5) Not Attempted

In which month of the year, the &
Surajkund mela is held every '*

Haryana ?

(1)  February
(2) March

(3) December

(4)  October

(5) Not Aftempted

C} Scanned with OKEN Scanner



